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Range: - Range: -
X-int: ° x-int: . -
y-int: y-int:
Symmetry: Synimetry: -
Continuity: Continutty: =
Left End: . Left End: T
Right End: - RightEad:
Increasing: . Increasing:
Decreasing: Decreasing:
Min: Min:
VA: + VA
HA: HA:
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Range: Range:
x-int: x-int:
y-int: y-int: -
Symmetry: Symmetry:
Zontinuity: Continuity:
Left End: Left End:
Right End: Right End: =~
ncreasing: Increasing:
Decreasing: A Decreasing:
viax: Max:
vin: : Min:
JA: : VA:
1A: . : HA:
a even odd odd
y=x odd odd even
0<2 <1
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a
=<0

logpx =Y iff by=X
k)gblzo lOgbb=1

log, X
loggb*=x b =X

nx=y iff ¢ =x
hl=0 he=1

I
PRy
00 -
I
. i #
Domain: Domain:
Baﬁge RZDgC: '
x-int; x-mt:
y-int: y-int:
~ Symmetry: . - Symmetry:
Continuity: Continuity:
Left End: Left End:
Right End: Right End:
Increasing: Increasing:
- Decreasing: - Decreasing:
Min: I Min:
VA: N VA -
HA: + HA:
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x-int: S x~int:
y-int: e y-int:’
Symmetry: — Symmetry:
Continuity: . . Continuity:
. Left End: . __ * LeftEnd:
Right End: PP Right End:
Increasing: ____ Increasing:
Decreasing:  ___ . Decreasing:
Max: T Max:
Min; N S— Min:
VA: - VA:
HA: HA:
loggx=lax log Xy = log yx + log

log,,% =logyXx — log,y

loguxp =plogpx

logx Inx
logoX = 1ot = b
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y = afb(x-h)+k
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Transformations Changes
3><;<1 Eccentricity
(4
a<0 e=-
b>1
0<b<1 Discriminant
b<0
k>0 e
k<0 Circle :f
(x-h) Ellipse if:
(x+h) Parabola if:
‘1‘>2<2 Hyperbola if:
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0<c¢<1
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(h—2,0¢ o C(f"k) (h+a4
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{x= h')i y—-K2 _ (x;_/;,,z v— k)2‘
Tttt : T,.+._:..._= o
. [ — b= -k
Orientation: horizontal major axis Orientation: verﬂwl major. a:ds £ F I
Center: (h, k) ' Centen (X ¢] “ - T
. : horimmal transverse axi
Foct: (£ 6, K) | Foct:(h, k+ o) °"°“““°“; , :
Vertices: (1 3 K) Vertices: (b, k + a) Ceaters (k)
Ca-vertices: (f; kt b) * Gowertices: (£ b, K Vodices: kRl
Major axis: y= k Major axis: x= h Focthc K

Minor axis: x= 4

-d, b, ¢ relationship: ¢2 = a2 — b?or

c=Va- B
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Minor axis: y=k
1
a, b, c relationship: ¢? = a% — b2or

i ) C=V82--Dz
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Focus:(li.k+p)

Axis of Symmetrya:x= A
Directrixd: y=k—p
PYo wp
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X = T.(!;, (%-k\‘ I\

; where C(hk) r=radius

. Ax2+Bxy+Cy2+Dx+Ey+F=0

B2-4AC<0;B=0andA=C
B2-4AC<0; cither B# Oor A= C
B2-4AC=0 |

B2-4AC>0

TranSvetsea:ds:y;k
Conjugate axis: x =h
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Odenw:on.verﬂwlmrsewds

Center: (h, k)

i Vertices: (h, k+ a)
Fock: (h, k% c)
Transversems:x =h

. Conjugate axis: y = k

Asy::uptbtmy—k:j:_%(x—h) Asymptotes: y — k= :t:—(x )
&, b, crelationship: ¢2 = a% + b%or a,n,r:relatlonshl;rc_’-—a’-ﬂ-bz
c=Val+b? c=VaZ+b?
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Slope-of line through = ~_____y, :‘
Pz y)a0d Pafrxa, 32) s RTE
Polnt-slope cquation of line r n =mG—xQ
through-F{x yy) with slopé e
‘Skopedateroept equatios of Cy=mxtd,

Eac with dlope.w and y-fitercept b
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Focus.(h+pk) )

q Axlsofsymmetrya y=k
Directrix df: x=f —
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